

# State of West Virginia Solicitation Response

Proc Folder: 1178119

Solicitation Description: Inmate Supplies - Footwear, Hygiene, and Miscellaneous

**Proc Type:** Agency Master Agreement

 Solicitation Closes
 Solicitation Response
 Version

 2023-03-09 14:00
 SR 0608 ESR03082300000004144
 1

**VENDOR** 

000000102664 CHARM-TEX INC

Solicitation Number: ARFQ 0608 DCR2300000141

**Total Bid:** 249225 **Response Date:** 2023-03-08 **Response Time:** 15:12:50

Comments:

## FOR INFORMATION CONTACT THE BUYER

Thomas P Hymes 304-558-2350 thomas.p.hymes@wv.gov

 Vendor

 Signature X
 FEIN#

DATE

All offers subject to all terms and conditions contained in this solicitation

 Date Printed:
 Mar 10, 2023
 Page: 1
 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	Eligible Item #1 - Footwear - Athletic, Slip-on and Boots	1.00000	LS	16207.000000	16207.00

Comm Code	Manufacturer	Specification	Model #	
53110000				

## **Commodity Line Comments:**

### **Extended Description:**

See specifications and Exhibit - A price page for details

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	Eligible Item #2 - Hygiene - Hair Care	1.00000	LS	14175.000000	14175.00

Comm Code	Manufacturer	Specification	Model #	
53130000				

## **Commodity Line Comments:**

## **Extended Description:**

See specifications and Exhibit - A price page for details

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
3	Eligible Item #3 - Hygiene - Soap and Body Wash	1.00000	LS	7140.000000	7140.00

Comm Code	Manufacturer	Specification	Model #	
53130000				

## **Commodity Line Comments:**

## **Extended Description:**

See specifications and Exhibit - A price page for details

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
4	Eligible Item #4 - Hygiene - Dental Care	1.00000	LS	13715.000000	13715.00

Comm Code	Manufacturer	Specification	Model #	
53130000				

# **Commodity Line Comments:**

### **Extended Description:**

See specifications and Exhibit - A price page for details

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
5	Eligible Item #5 - Hygiene - Men and Womens Deodorants	1.00000	LS	15280.000000	15280.00

Comm Code	Manufacturer	Specification	Model #	
53130000				

## **Commodity Line Comments:**

## **Extended Description:**

See specifications and Exhibit - A price page for details

 Date Printed:
 Mar 10, 2023
 Page: 2
 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
6	Eligible Item #6 - Hygiene - Feminine Products	1.00000	LS	10685.000000	10685.00

Comm Code	Manufacturer	Specification	Model #	
53130000				

## **Commodity Line Comments:**

### **Extended Description:**

See specifications and Exhibit - A price page for details

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
7	Eligible Item #7 - Hygiene - Shaving Products	1.00000	LS	15434.000000	15434.00

Comm Code	Manufacturer	Specification	Model #	
53130000				

## **Commodity Line Comments:**

## **Extended Description:**

See specifications and Exhibit - A price page for details

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
8	Eligible Item #8 - Hygiene - Toiletries	1.00000	LS	10740.000000	10740.00

Comm Code	Manufacturer	Specification	Model #	
53130000				

## **Commodity Line Comments:**

## **Extended Description:**

See specifications and Exhibit - A price page for details

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
9	Eligible Item #9 - Clothing - Mens Briefs	1.00000	LS	6434.000000	6434.00

Comm Code	Manufacturer	Specification	Model #	
53100000				

## **Commodity Line Comments:**

### **Extended Description:**

See specifications and Exhibit - A price page for details

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
10	Eligible Item #10 - Clothing-Womens Underpants & Sports Bras	1.00000	LS	6494.000000	6494.00

Comm Code	Manufacturer	Specification	Model #	
53100000				

## **Commodity Line Comments:**

## **Extended Description:**

See specifications and Exhibit - A price page for details

 Date Printed:
 Mar 10, 2023
 Page: 3
 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
11	Eligible Item #11 - Miscellaneous Clothing	1.00000	LS	63510.000000	63510.00

Comm Code	Manufacturer	Specification	Model #	
53100000				

# **Commodity Line Comments:**

## **Extended Description:**

See specifications and Exhibit - A price page for details

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
12	Eligible Item #12 - Miscellaneous Items	1.00000	LS	69411.000000	69411.00

Comm Code	Manufacturer	Specification	Model #	
53100000				

# **Commodity Line Comments:**

# **Extended Description:**

See specifications and Exhibit - A price page for details

 Date Printed:
 Mar 10, 2023
 Page: 4
 FORM ID: WV-PRC-SR-001 2020/05

Eligible Item Number	Description	Unit of Measure	Quantity Per- Case (if applicable)	Estimated Quantity	Item Unit Price	Item Total Cost
3.1.1	ELIGIBLE ITEM #1 - FOOTWEAR - ATHLETIC, SLIP-ON SHOES AND BOOTS					
3.1.1.1	Men's Leather Velcro Athletic Shoe (Size 5 – 16)	Pair		50.0000	\$ 18.3600	\$ 918.0000
3.1.1.2	Women's Leather Velcro Athletic Shoe (Size 4 -11)	Pair		50.0000	\$ 18.3600	\$ 918.0000
3.1.1.3	Men's Leather Lace-Up Athletic Shoe (Size 5 -16)	Pair		50.0000	\$ 19.3600	\$ 968.0000
3.1.1.4	Women's Leather Lace-Up Athletic Shoe (Size 4 - 11)	Pair		50.0000	\$ 19.3600	\$ 968.0000
3.1.1.5	Men's Canvas Lace-Up Athletic Shoe (Size 5 -15)	Pair		50.0000	\$ 8.3600	\$ 418.0000
3.1.1.6	Women's Canvas Lace-Up Athletic Shoe (Size 4 - 12)	Pair		50.0000	\$ 8.3600	\$ 418.0000
3.1.1.7	Men's Canvas Slip On Shoe (Size 5 -15)	Pair		50.0000	\$ 5.8900	\$ 294.5000
3.1.1.8	Women's Canvas slip on Shoe (Size 4 - 12)	Pair		50.0000	\$ 5.8900	\$ 294.5000
3.1.1.9	Men's 6" Work Boot (Size 5-16)	Pair		50.0000	\$ 28.9000	\$ 1,445.0000
3.1.1.10	Women's 6" Work Boot (Size 4-13)	Pair		50.0000	\$ 28.9000	\$ 1,445.0000
3.1.1.11	Men's Servus CT Boot (Size 5-15)	Pair		50.0000	\$ 18.9900	\$ 949.5000
3.1.1.12	Women's Servus CT Boot (Size 5-13)	Pair		50.0000	\$ 18.9900	\$ 949.5000
3.1.1.13	Rubber Knee Boot (Size 4-15)	Pair		50.0000	\$ 29.9000	\$ 1,495.0000
3.1.1.14	EVA Clogs (Size 5-15)	Dozen		50.0000	\$ 64.3600	\$ 3,218.0000
3.1.1.15	Versatile PVC Sandal (Sizes small - 3XL)	Pair		50.0000	\$ 2.3600	\$ 118.0000
3.1.1.16	V – Strap Flip Flop Men's	Dozen		50.0000	\$ 13.9000	\$ 695.0000
3.1.1.17	V – Strap Flip Flop Women's	Dozen		50.0000	\$ 13.9000	\$ 695.0000
		Page 1 of 10				\$ 16,207.0000

3.1.2	ELIGIBLE ITEM #2 - HYGIENE - HAIR CARE					
3.1.2.2	Comb – 5" inch	Case	144/cs	50.0000	\$ 4.9000	\$ 245.0000
3.1.2.3	Comb – 7" inch	Case	144/cs	50.0000	\$ 7.9000	\$ 395.0000
3.1.2.4	Club palm Brush – 4" inch	Case	12/cs	50.0000	\$ 14.9000	\$ 745.0000
3.1.2.5	Lice Control Shampoo	Case	4/cs Gallon	50.0000	\$ 218.9000	\$ 10,945.0000
3.1.2.6	All-in-one Shampoo	Case	96/cs	50.0000	\$ 36.9000	\$ 1,845.0000
						\$ 14,175.0000

3.1.3	ELIGIBLE ITEM #3 - SOAP AND BODY WASH					
3.1.3.1	Anti-bacterial bar soap	Case	500/cs	50.0000	\$ 62.9000	\$ 3,145.0000
3.1.3.2	Shampoo & Body Wash	Case	1000/cs	50.0000	\$ 79.9000	\$ 3,995.0000
						\$ 7,140.0000
3.1.4	ELIGIBLE ITEM #4 – DENTAL CARE					
3.1.4.1	Denture Adhesive	Case	6/cs	50.0000	\$ 19.9000	\$ 995.0000
3.1.4.2	Denture Cleaner	Case		50.0000	\$ 68.9000	\$ 3,445.0000
3.1.4.3	Thumb Brush	Case	144/cs	50.0000	\$ 14.9000	\$ 745.0000
3.1.4.4	Regular Toothbrush	Case	144/cs	50.0000	\$ 19.9000	\$ 995.0000
3.1.4.5	Small Toothpaste	Case	144/cs	50.0000	\$ 30.9000	\$ 1,545.0000
3.1.4.6	Medium Toothpaste	Case	144/cs	50.0000	\$ 42.9000	\$ 2,145.0000
3.1.4.7	Large Toothpaste	Case	60/cs	50.0000	\$ 76.9000	\$ 3,845.0000
						\$ 13,715.0000
3.1.5	ELIGIBLE ITEM #5 – MEN AND WOMEN'S DEODRANTS					
3.1.5.1	Deodorant – Men's Roll-on	Case	96/cs	50.0000	\$ 42.9000	\$ 2,145.0000
3.1.5.2	Deodorant – Men's Stick	Case	144/cs	50.0000	\$ 109.9000	\$ 5,495.0000
3.1.5.3	Deodorant – Women's Roll-on	Case	96/cs	50.0000	\$ 42.9000	\$ 2,145.0000
3.1.5.4	Deodorant – Women's Stick	Case	144/cs	50.0000	\$ 109.9000	\$ 5,495.0000
						\$ 15,280.0000

3.1.6	ELIGIBLE ITEM #6 – FEMININE PRODUCTS									
3.1.6.1	Sanitary Napkins	Case	432/cs	50.0000	\$	42.9000	\$	2,145.0000		
3.1.6.2	Tampon with Applicator	Case	500/cs	50.0000	\$	99.9000	\$	4,995.0000		
3.1.6.3	Tampon without Applicator	Case	500/cs	50.0000	\$	70.9000	\$	3,545.0000		
							\$	10,685.0000		

	,	_	T		_		
3.1.7	ELIGIBLE ITEM #7 – SHAVING PRODUCTS						
3.1.7.1	Twin-Blade Razor	Case	100/cs	50.0000	\$	8.9900	\$ 449.5000
			,				
3.1.7.2	Single-Blade Razor	Case	100/cs	50.0000	\$	7.9900	\$ 399.5000
3.1.7.3	Small Shaving Cream	Case	1000/cs	50.0000	\$	79.9000	\$ 3,995.0000
3.1.7.42	Medium Shaving Cream	Case	144/cs	50.0000	\$	136.9000	\$ 6,845.0000
3.1.7.5	Large Shaving Cream	Case	24/cs	50.0000	\$	74.9000	\$ 3,745.0000
							\$ 15,434.0000
3.1.8	ELIGIBLE ITEM #8 – TOILETRIES						
3.1.8.1	Lip Balm	Case	72/cs	50.0000	\$	144.9000	\$ 7,245.0000
3.1.8.2	Hand & Body Lotion	Case	144/cs	50.0000	\$	69.9000	\$ 3,495.0000
							\$ 10,740.0000
3.1.9	ELIGIBLE ITEM #9 – MENS BRIEFS						
3.1.9.1	Men's Briefs Small	Dozen		50.0000	\$	14.5400	\$ 727.0000
3.1.9.2	Men's Briefs Medium	Dozen		50.0000	\$	14.5400	\$ 727.0000
3.1.9.3	Men's Briefs Large	Dozen		50.0000	\$	14.5400	\$ 727.0000
3.1.9.4	Men's Briefs XL	Dozen		50.0000	\$	14.5400	\$ 727.0000
3.1.9.5	Men's Briefs 2-XL	Dozen		50.0000	\$	14.5400	\$ 727.0000
3.1.9.6	Men's Briefs 3-6 XL	Dozen		50.0000	\$	16.5400	\$ 827.0000
3.1.9.7	Men's Briefs 7-10 XL	Dozen		50.0000	\$	18.5400	\$ 927.0000
3.1.9.8	Men's Boxers SM – 10XL	Dozen		50.0000	\$	20.9000	\$ 1,045.0000

Exhibit A - Pricing Page										
Inmate Supplies – Footwear, Hygiene, and Miscellaneous Clothing										
ARFQ - DCR2300000141										
\$ 6,434.0000										

	7 <del>Q</del>				1	
3.1.10	ELIGIBLE ITEM #10 – WOMENS UNDERPANTS & SPORTS BRAS					
3.1.10.1	Women's Underpants Small	Dozen	50.0000	\$ 11.1800	\$	559.0000
3.1.10.2	Women's Underpants Medium	Dozen	50.0000	\$ 11.1800	\$	559.0000
3.1.10.3	Women's Underpants Large	Dozen	50.0000	\$ 13.1800	\$	659.0000
3.1.10.4	Women's Underpants XL	Dozen	50.0000	\$ 15.1800	\$	759.0000
3.1.10.5	Women's Underpants 2-XL	Dozen	50.0000	\$ 15.1800	\$	759.0000
3.1.10.6	Women's Underpants 3-5 XL	Dozen	50.0000	\$ 15.1800	\$	759.0000
3.1.10.7	Women's Sports Bra Size 32-38	Dozen	50.0000	\$ 23.9000	\$	1,195.0000
3.1.10.8	Women's Sports Bra Size 40-54	Dozen	50.0000	\$ 24.9000	\$	1,245.0000
					\$	6,494.0000
3.1.11	ELIGIBLE ITEMS #11 – MISCELLANEOUS CLOTHING					
3.1.11.1	Disposable Isolation Gowns	Case	50.0000	\$ 53.9000	\$	2,695.0000
3.1.11.2	Disposable Shirt Standard Fit	Case	50.0000	\$ 79.9000	\$	3,995.0000
3.1.11.3	Disposable Shirt XL - 2XL	Case	50.0000	\$ 79.9000	\$	3,995.0000
3.1.11.4	Disposable Shirt XL Plus Size	Case	50.0000	\$ 79.9000	\$	3,995.0000
3.1.11.5	Disposable Pants standard fit	Case	50.0000	\$ 89.9000	\$	4,495.0000
3.1.11.6	Disposable Pants XL - 2XL	Case	50.0000	\$ 89.9000	\$	4,495.0000
3.1.11.7	Disposable Pants XL Plus Size	Case	 50.0000	\$ 89.9000	\$	4,495.0000
3.1.11.8	Disposable Briefs One Size Fits Most	Case	 50.0000	\$ 197.9000	\$	9,895.0000
3.1.11.9	Disposable Briefs Plus Size	Case	50.0000	\$ 172.9000	\$	8,645.0000
3.1.11.10	Disposable Latex Over-Boot Boot Covers	Case	50.0000	\$ 59.9000	\$	2,995.0000

# Exhibit A - Pricing Page Inmate Supplies – Footwear, Hygiene, and Miscellaneous Clothing ARFQ - DCR2300000141 Apron Each 50.0000 \$ 10.9000

3.1.11.11	Heavy Duty Vinyl Apron	Each	50.0000	\$ 10.9000	\$ 545.0000
3.1.11.12	Suicide Prevention Smock 34" - 52"	Each	50.0000	\$ 74.9000	\$ 3,745.0000
3.1.11.13	Suicide Prevention Smock 44" - 56"	Each	50.0000	\$ 74.9000	\$ 3,745.0000
3.1.11.14	Thermal Underwear – Tops	Dozen	50.0000	\$ 39.9000	\$ 1,995.0000
3.1.11.15	Thermal Underwear – Bottoms	Dozen	50.0000	\$ 39.9000	\$ 1,995.0000
3.1.11.16	Toboggan – Watch Cap	Dozen	50.0000	\$ 13.9000	\$ 695.0000
3.1.11.17	Sweatshirt – Crew Neck Adult	Each	50.0000	\$ 10.9000	\$ 545.0000
3.1.11.18	Sweatpants	Each	50.0000	\$ 10.9000	\$ 545.0000
					\$ 63,510.0000

3.1.12	ELIGIBLE ITEMS #12 – MISCELLANEOUS ITEMS				
3.1.12.1	Evidence Bags 9"X12"	Case	50.0000	\$ 42.9000	\$ 2,145.0000
3.1.12.2	Evidence Bags 10"X13"	Case	50.0000	\$ 50.9000	\$ 2,545.0000
3.1.12.3	Evidence Bags 14"X20"	Case	50.0000	\$ 40.9000	\$ 2,045.0000
3.1.12.4	Washable Clear EZ Bend Pen	Case	50.0000	\$ 28.9000	\$ 1,445.0000
3.1.12.5	Maximum Security Clear Flexible Pen	Case	50.0000	\$ 19.9000	\$ 995.0000
3.1.12.6	EcoSecurity Utensil	Case	50.0000	\$ 199.7200	\$ 9,986.0000
3.1.12.7	Handcuff Padlock	Case	50.0000	\$ 136.9000	\$ 6,845.0000
3.1.12.8.1	UNO Card Game	Each	50.0000	\$ 111.9000	\$ 5,595.0000
3.1.12.8.2	Phase-10 Card Game	Each	50.0000	\$ 111.9000	\$ 5,595.0000
3.1.12.8.3	Scrabble Board Game	Each	50.0000	\$ 111.9000	\$ 5,595.0000
3.1.12.8.4	Risk Board Game	Each	50.0000	\$ 184.9000	\$ 9,245.0000
3.1.12.8.5	Sorry Board Game	Each	50.0000	\$ 129.9000	\$ 6,495.0000
3.1.12.8.6	Checkers Board Game	Each	50.0000	\$ 39.9000	\$ 1,995.0000
3.1.12.8.7	Chess Board Game	Each	50.0000	\$ 39.9000	\$ 1,995.0000
3.1.12.8.8	Backgammon Board Game	Each	50.0000	\$ 84.9000	\$ 4,245.0000
3.1.12.9	Spork Polypropylene – Orange	Case	50.0000	\$ 52.9000	\$ 2,645.0000
					\$ 69,411.0000
		•	21.77	 TAL COST	

OVERALL TOTAL COST \$ 249,225.0000

Please note: This information is being captured for auditing purposes.

Any product or service not on the Agency provided Pricing Page will not be allowable. The state cannot accept alternate pricing pages, failure to use Exhibit-A Price Page or a No-Bid will lead to disqualification of vendors bid. The Pricing Page contains a list of the Contract Services and estimated purchase volume. The estimated purchase volume for each item represents the approximate volume of anticipated purchases only. No future use of the Contract or any individual item is guaranteed or implied.

Vendor should type or electronically enter the information into the Pricing Page to prevent errors in the evaluation.

BIDDER /VENDOR I	NFORMATION:
Vendor Name: Charm-Tex	
Address: 1618 Coney Island Ave.	
City, State Zip: Brooklyn, NY 11230	
Phone Number: 718-252-8100	
Email Address: stan@charm-tex.com	
Vendor Signature: Stan Danzger	Date: 03/08/2023

Eligible Item Number	Description	Unit of Measure	Quantity Per- Case (if applicable)	Estimated Quantity	Item Unit Price		Item Total Cost	
3.1.1	ELIGIBLE ITEM #1 - FOOTWEAR - ATHLETIC, SLIP-ON SHOES AND BOOTS							
3.1.1.1	Men's Leather Velcro Athletic Shoe (Size 5 – 16)	Pair		50.0000	\$	18.3600	\$	918.0000
3.1.1.2	Women's Leather Velcro Athletic Shoe (Size 4 -11)	Pair		50.0000	\$	18.3600	\$	918.0000
3.1.1.3	Men's Leather Lace-Up Athletic Shoe (Size 5 -16)	Pair		50.0000	\$	19.3600	\$	968.0000
3.1.1.4	Women's Leather Lace-Up Athletic Shoe (Size 4 - 11)	Pair		50.0000	\$	19.3600	\$	968.0000
3.1.1.5	Men's Canvas Lace-Up Athletic Shoe (Size 5 -15)	Pair		50.0000	\$	8.3600	\$	418.0000
3.1.1.6	Women's Canvas Lace-Up Athletic Shoe (Size 4 - 12)	Pair		50.0000	\$	8.3600	\$	418.0000
3.1.1.7	Men's Canvas Slip On Shoe (Size 5 -15)	Pair		50.0000	\$	5.8900	\$	294.5000
3.1.1.8	Women's Canvas slip on Shoe (Size 4 - 12)	Pair	·	50.0000	\$	5.8900	\$	294.5000
3.1.1.9	Men's 6" Work Boot (Size 5-16)	Pair		50.0000	\$	28.9000	\$	1,445.0000
3.1.1.10	Women's 6" Work Boot (Size 4-13)	Pair		50.0000	\$	28.9000	\$	1,445.0000
3.1.1.11	Men's Servus CT Boot (Size 5-15)	Pair		50.0000	\$	18.9900	\$	949.5000
3.1.1.12	Women's Servus CT Boot (Size 5-13)	Pair		50.0000	\$	18.9900	\$	949.5000
3.1.1.13	Rubber Knee Boot (Size 4-15)	Pair		50.0000	\$	29.9000	\$	1,495.0000
3.1.1.14	EVA Clogs (Size 5-15)	Dozen		50.0000	\$	64.3600	\$	3,218.0000
3.1.1.15	Versatile PVC Sandal (Sizes small - 3XL)	Pair		50.0000	\$	2.3600	\$	118.0000
3.1.1.16	V – Strap Flip Flop Men's	Dozen		50.0000	\$	13.9000	\$	695.0000
3.1.1.17	V – Strap Flip Flop Women's	Dozen Page 1 of 10		50.0000	\$	13.9000	\$	695.0000

					å: 14.	\$ 16,207.0000
3.1.2	ELIGIBLE ITEM #2 - HYGIENE - HAIR CARE					
3.1.2.2	Comb – 5" inch	Case	144/cs	50.0000	\$ 4.9000	\$ 245.0000
3.1.2.3	Comb – 7" inch	Case	144/cs	50.0000	\$ 7.9000	\$ 395.0000
3.1.2.4	Club palm Brush – 4" inch	Case	12/cs	50.0000	\$ 14.9000	\$ 745.0000
3.1.2.5	Lice Control Shampoo	Case	4/cs Gallon	50.0000	\$ 218.9000	\$ 10,945.0000
3.1.2.6	All-in-one Shampoo	Case	96/cs	50.0000	\$ 36.9000	\$ 1,845.0000
						\$ 14,175.0000

# Exhibit A - Pricing Page

# Inmate Supplies – Footwear, Hygiene, and Miscellaneous Clothing ARFQ - DCR2300000141

AII Q DCI250000141								
3.1.3	ELIGIBLE ITEM #3 - SOAP AND BODY WASH	700 - 100 m						
3.1.3.1	Anti-bacterial bar soap	Case	500/cs	50.0000	\$	62.9000	\$	3,145.0000
3.1.3.2	Shampoo & Body Wash	Case	1000/cs	50.0000	\$	79.9000	\$	3,995.0000
						44	\$	<b>7,160,0</b> 000
3.1.4 3.1.4	ELIGIBLE ITEM #4 - DENTAL CARE					Control Section (1) Contro		\$ # W
3.1.4.1	Denture Adhesive	Case	6/cs	50.0000	\$	19.9000	\$	995.0000
3.1.4.2	Denture Cleaner	Case		50.0000	\$	68.9000	\$	3,445.0000
3.1.4.3	Thumb Brush	Case	144/cs	50.0000	\$	14.9000	\$	745.0000
3.1.4.4	Regular Toothbrush	Case	144/cs	50.0000	\$	19.9000	\$	995.0000
3.1.4.5	Small Toothpaste	Case	144/cs	50.0000	\$	30.9000	\$	1,545.0000
3.1.4.6	Medium Toothpaste	Case	144/cs	50.0000	\$	42.9000	\$	2,145.0000
3.1.4.7	Large Toothpaste	Case	60/cs	50.0000	\$	76.9000	\$	3,845.0000
				i ka ka i ji ka		4 5	\$	13,715,0000
3.1.5	ELIGIBLE ITEM #5 – MEN AND WOMEN'S DEODRANTS							
3.1.5.1	Deodorant – Men's Roll-on	Case	96/cs	50.0000	\$	42.9000	\$	2,145.0000
3.1.5.2	Deodorant – Men's Stick	Case	144/cs	50.0000	\$	109.9000	\$	5,495.0000
3.1.5.3	Deodorant – Women's Roll-on	Case	96/cs	50.0000	\$	42.9000	\$	2,145.0000
3.1.5.4	Deodorant – Women's Stick	Case	144/cs	50.0000	\$	109.9000	\$	5,495.0000
1. 1. 1			Company of the Compan				\$	15,280.0000
		Page 3 of 10						

# **Exhibit A - Pricing Page**

# Inmate Supplies – Footwear, Hygiene, and Miscellaneous Clothing ARFQ - DCR2300000141

3.1.6	ELIGIBLE ITEM #6 – FEMININE PRODUCTS				ľ			
3.1.6.1	Sanitary Napkins	Case	432/cs	50.0000	\$	42.9000	\$	2,145.0000
3.1.6.2	Tampon with Applicator	Case	500/cs	50.0000	\$	99.9000	\$	4,995.0000
3.1.6.3	Tampon without Applicator	Case	500/cs	50.0000	\$	70.9000	\$	3,545.0000
district the							5	10,685,0000

						1	
3.1.7	ELIGIBLE TIEM #7—SHAVING PRODUCTS					1	
3.1.7.1	Twin-Blade Razor	Case	100/cs	50.0000	\$ 8.9900	\$	449.5000
3.1.7.2	Single-Blade Razor	Case	100/cs	50.0000	\$ 7.9900	\$	399.5000
3.1.7.3	Small Shaving Cream	Case	1000/cs	50.0000	\$ 79.9000	\$	3,995.0000
3.1.7.4	Medium Shaving Cream	Case	144/cs	50.0000	\$ 136.9000	\$	6,845.0000
3.1.7.5	Large Shaving Cream	Case	24/cs	50.0000	\$ 74.9000	\$	3,745.0000
					(1) (1)		. (\$ 034 JAA)
					7-12-20		
3.1.8	ELIGIBLE ITEM #8 – TOILETRIES	100 mm					
3.1.8.1	Lip Balm	Case	72/cs	50.0000	\$ 144.9000	\$	7,245.0000
3.1.8.2	Hand & Body Lotion	Case	144/cs	50.0000	\$ 69.9000	\$	3,495.0000
				Turker like		\$	10,740.0000
			Succession 200	· (Olimbria)			
13.1.9	ELIGIBLE ITEM #9 - MENS BRIEFS						
3.1.9.1	Men's Briefs Small	Dozen		50.0000	\$ 14.5400	\$	727.0000
3.1.9.2	Men's Briefs Medium	Dozen		50.0000	\$ 14.5400	\$	727.0000
3.1.9.3	Men's Briefs Large	Dozen	-	50.0000	\$ 14.5400	\$	727.0000
3.1.9.4	Men's Briefs XL	Dozen		50.0000	\$ 14.5400	\$	727.0000
3.1.9.5	Men's Briefs 2-XL	Dozen		50.0000	\$ 14.5400	\$	727.0000
3.1.9.6	Men's Briefs 3-6 XL	Dozen		50.0000	\$ 16.5400	\$	827.0000
3.1.9.7	Men's Briefs 7-10 XL	Dozen		50.0000	\$ 18.5400	\$	927.0000
3.1.9.8	Men's Boxers SM – 10XL	Page 3 of 10		50.0000	\$ 20.9000	\$	1,045.0000

# Exhibit A - Pricing Page

# Inmate Supplies – Footwear, Hygiene, and Miscellaneous Clothing ARFQ - DCR2300000141

				<u> </u>		
3.1.10	ELIGIBLE ITEM #10 – WOMENS UNDERPANTS & SPORTS BRAS		Transcription of the second			
3.1.10.1	Women's Underpants Small	Dozen		50.0000	\$ 11.1800	\$ 559.0000
3.1.10.2	Women's Underpants Medium	Dozen		50.0000	\$ 11.1800	\$ 559.0000
3.1.10.3	Women's Underpants Large	Dozen		50.0000	\$ 13.1800	\$ 659.0000
3.1.10.4	Women's Underpants XL	Dozen		50.0000	\$ 15.1800	\$ 759.0000
3.1.10.5	Women's Underpants 2-XL	Dozen		50.0000	\$ 15.1800	\$ 759.0000
3.1.10.6	Women's Underpants 3-5 XL	Dozen		50.0000	\$ 15.1800	\$ 759.0000
3.1.10.7	Women's Sports Bra Size 32-38	Dozen		50.0000	\$ 23.9000	\$ 1,195.0000
3.1.10.8	Women's Sports Bra Size 40-54	Dozen		50.0000	\$ 24.9000	\$ 1,245.0000
						\$ 6,494.0000
71 E 12 E					11 1	123
3.1.11	ELIGIBLE ITEMS #11 – MISCELLANEOUS CLOTHING					
3.1.11.1	Disposable Isolation Gowns	Case		50.0000	\$ 53.9000	\$ 2,695.0000
3.1.11.2	Disposable Shirt Standard Fit	Case		50.0000	\$ 79.9000	\$ 3,995.0000
3.1.11.3	Disposable Shirt XL - 2XL	Case		50.0000	\$ 79.9000	\$ 3,995.0000
3.1.11.4	Disposable Shirt XL Plus Size	Case		50.0000	\$ 79.9000	\$ 3,995.0000
3.1.11.5	Disposable Pants standard fit	Case		50.0000	\$ 89.9000	\$ 4,495.0000
3.1.11.6	Disposable Pants XL - 2XL	Case		50.0000	\$ 89.9000	\$ 4,495.0000
3.1.11.7	Disposable Pants XL Plus Size	Case		50.0000	\$ 89.9000	\$ 4,495.0000
3.1.11.8	Disposable Briefs One Size Fits Most	Case		50.0000	\$ 197.9000	\$ 9,895.0000
3.1.11.9	Disposable Briefs Plus Size	Case		50.0000	\$ 172.9000	\$ 8,645.0000

# ARFQ - DCR2300000141

3.1.11.11	Heavy Duty Vinyl Apron	Each	50.0000	\$ 10.9000	\$ 545.0000
3.1.11.12	Suicide Prevention Smock 34" - 52"	Each	50.0000	\$ 74.9000	\$ 3,745.0000
3.1.11.13	Suicide Prevention Smock 44" - 56"	Each	50.0000	\$ 74.9000	\$ 3,745.0000
3.1.11.14	Thermal Underwear – Tops	Dozen	50.0000	\$ 39.9000	\$ 1,995.0000
3.1.11.15	Thermal Underwear – Bottoms	Dozen	50.0000	\$ 39.9000	\$ 1,995.0000
3.1.11.16	Toboggan – Watch Cap	Dozen	50.0000	\$ 13.9000	\$ 695.0000
3.1.11.17	Sweatshirt – Crew Neck Adult	Each	50.0000	\$ 10.9000	\$ 545.0000
3.1.11.18	Sweatpants	Each	50.0000	\$ 10.9000	\$ 545.0000
					\$ 63,510.0000

3.1.12	ELIGIBLE ITEMS #12 – MISCELLANEOUS ITEMS							
3.1.12.1	Evidence Bags 9"X12"	Case		50.0000	\$	42.9000	\$	2,145.0000
3.1.12.2	Evidence Bags 10"X13"	Case		50.0000	\$	50.9000	\$	2,545.0000
3.1.12.3	Evidence Bags 14"X20"	Case		50.0000	\$	40.9000	\$	2,045.0000
3.1.12.4	Washable Clear EZ Bend Pen	Case		50.0000	\$	28.9000	\$	1,445.0000
3.1.12.5	Maximum Security Clear Flexible Pen	Case		50.0000	\$	19.9000	\$	995.0000
3.1.12.6	EcoSecurity Utensil	Case		50.0000	\$	199.7200	\$	9,986.0000
3.1.12.7	Handcuff Padlock	Case		50.0000	\$	136.9000	\$	6,845.0000
3.1.12.8.1	UNO Card Game	Each		50.0000	\$	111.9000	\$	5,595.0000
3.1.12.8.2	Phase-10 Card Game	Each		50.0000	\$	111.9000	\$	5,595.0000
3.1.12.8.3	Scrabble Board Game	Each		50.0000	\$	111.9000	\$	5,595.0000
3.1.12.8.4	Risk Board Game	Each		50.0000	\$	184.9000	\$	9,245.0000
3.1.12.8.5	Sorry Board Game	Each		50.0000	\$	129.9000	\$	6,495.0000
3.1.12.8.6	Checkers Board Game	Each		50.0000	\$	39.9000	\$	1,995.0000
3.1.12.8.7	Chess Board Game	Each		50.0000	\$	39.9000	\$	1,995.0000
3.1.12.8.8	Backgammon Board Game	Each		50.0000	\$	84.9000	\$	4,245.0000
3.1.12.9	Spork Polypropylene – Orange	Case		50.0000	\$	52.9000	\$	2,645.0000
							\$	69,411.0000
				OVERAL	L TO	TAL COST	\$ 2	49,225.0000
Diagon pot	Please note: This information is being captured for auditing nurnoses							

Please note: This information is being captured for auditing purposes.

# **Exhibit A - Pricing Page**

# Inmate Supplies – Footwear, Hygiene, and Miscellaneous Clothing ARFQ - DCR2300000141

Any product or service not on the Agency provided Pricing Page will not be allowable. The state cannot accept alternate pricing pages, failure to use Exhibit-A Price Page or a No-Bid will lead to disqualification of vendors bid. The Pricing Page contains a list of the Contract Services and estimated purchase volume. The estimated purchase volume for each item represents the approximate volume of anticipated purchases only. No future use of the Contract or any individual item is guaranteed or implied.

Vendor should type or electronically enter the information into the Pricing Page to prevent errors in the evaluation.

BIDDER /VENDOR INFORMATION:					
Vendor Name: Charm-Tex					
Address: 1618 Coney Island Ave.					
City, State Zip: Brooklyn, NY 11230					
Phone Number: 718-252-8100					
Email Address: stan@charm-tex.com					
Vendor Signature:	Date: 03/08/2023				

## REQUEST FOR QUOTATION

# Inmate Supplies – Footwear, Hygiene, and Miscellaneous Clothing ARFQ 0608 DCR2300000141

### 8. MISCELLANEOUS:

- **8.1 No Substitutions:** Vendor must supply only Contract Items submitted in response to the Solicitation unless a contract modification is approved in accordance with the provisions contained in this Contract. Vendor shall be able to supply Agency with the Next Generation item and supplies, however; the next generation must meet or exceed all specification as listed above at no extra cost to the Agency.
- **8.2 Vendor Supply:** Vendor must carry sufficient inventory of the Contract Items being offered to fulfill its obligations under this Contract. By signing its bid, Vendor certifies that it can supply the Contract Items contained in its bid response.
- **8.3** Reports: Vendor shall provide quarterly reports and annual summaries to the Agency showing the Agency's items purchased, quantities of items purchased, and total dollar value of the items purchased. Vendor shall also provide reports, upon request, showing the items purchased during the term of this Contract, the quantity purchased for each of those items, and the total value of purchases for each of those items. Failure to supply such reports may be grounds for cancellation of this Contract.
- **8.4 Contract Manager:** During its performance of this Contract, Vendor must designate and maintain a primary contract manager responsible for overseeing Vendor's responsibilities under this Contract. The Contract manager must be available during normal business hours to address any customer service or other issues related to this Contract. Vendor should list its Contract manager and his or her contact information below.

Contract Manager:	Stan Danzaer
Telephone Number:	718-272-8100
Fax Number:	713-258-8303
Email Address:	Stan@charm-tex.com

DESIGNATED CONTACT: Vendor appoints the individual identified in this Section as the Contract Administrator and the initial point of contact for matters relating to this Contract.

5+an Danzger, VP of sales
(Name, Title)  Stan Danzage, VP of Sales  (Printed Name and Title)
Stan Danzaer, VP of Stres
(Printed Name and Title)
(Printed Name and Title)  1618 Coney Island Ave. Brooklyn. NY, 11230  (Address)
(Address)
717-252-8100, 718-259-8303
(Phone Number) / (Fax Number)
5ten @ charm-tex.com
(E-mail address)

CERTIFICATION AND SIGNATURE: By signing below, or submitting documentation through wvOASIS, I certify that I have reviewed this Solicitation in its entirety; that I understand the requirements, terms and conditions, and other information contained herein; that this bid, offer or proposal constitutes an offer to the State that cannot be unilaterally withdrawn; that the product or service proposed meets the mandatory requirements contained in the Solicitation for that product or service, unless otherwise stated herein; that the Vendor accepts the terms and conditions contained in the Solicitation, unless otherwise stated herein; that I am submitting this bid, offer or proposal for review and consideration; that I am authorized by the vendor to execute and submit this bid, offer, or proposal, or any documents related thereto on vendor's behalf; that I am authorized to bind the vendor in a contractual relationship; and that to the best of my knowledge, the vendor has properly registered with any State agency that may require registration.

Charm-Tex
(Company)
(Authorized Signature) (Representative Name, Title)
Stan Danzour, VP of Sales (Printed Name and Title of Authorized Representative)
(Printed Name and Title of Authorized Representative)
(Date)
718-252-9100 718-258-9303
(Phone Number) (Fax Number)

# ADDENDUM ACKNOWLEDGEMENT FORM

## **SOLICITATION NO.:**

Instructions: Please acknowledge receipt of all addenda issued with this solicitation by completing this addendum acknowledgment form. Check the box next to each addendum received and sign below. Failure to acknowledge addenda may result in bid disqualification. Acknowledgment: I hereby acknowledge receipt of the following addenda and have made the necessary revisions to my proposal, plans and/or specification, etc.

	imbers Received:		
(Check the box	x next to each addendum receiv	ed)	
☐ A ☐ A ☐ A	Addendum No. 1 Addendum No. 2 Addendum No. 3 Addendum No. 4 Addendum No. 5	☐ Addendum No. 6 ☐ Addendum No. 7 ☐ Addendum No. 8 ☐ Addendum No. 9 ☐ Addendum No. 10	
further underst discussion held	stand that any verbal represent d between Vendor's representa	pt of addenda may be cause for rejection tation made or assumed to be made of atives and any state personnel is not bir the specifications by an official addendum	during any oral nding. Only the
Company	m-Tex		
4	G:		
Authorized	Signature		
Deta	12		
Date			

NOTE: This addendum acknowledgement should be submitted with the bid to expedite document processing.

## STATE OF WEST VIRGINIA

# **PURCHASING AFFIDAVIT**

**CONSTRUCTION CONTRACTS:** Under W. Va. Code § 5-22-1(i), the contracting public entity shall not award a construction contract to any bidder that is known to be in default on any monetary obligation owed to the state or a political subdivision of the state, including, but not limited to, obligations related to payroll taxes, property taxes, sales and use taxes, fire service fees, or other fines or fees.

**ALL CONTRACTS:** Under W. Va. Code §15A-3-14, no contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and: (1) the debt owed is an amount greater than one thousand dollars in the aggregate; or (2) the debtor is in employer default.

**EXCEPTION:** The prohibition listed above does not apply where a vendor has contested any tax administered pursuant to chapter eleven of the W. Va. Code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

### **DEFINITIONS:**

WITNESS THE FOLLOWING SIGNATURE:

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Employer default" means having an outstanding balance or liability to the old fund or to the uninsured employers' fund or being in policy default, as defined in W. Va. Code § 23-2c-2, failure to maintain mandatory workers' compensation coverage, or failure to fully meet its obligations as a workers' compensation self-insured employer. An employer is not in employer default if it has entered into a repayment agreement with the Insurance Commissioner and remains in compliance with the obligations under the repayment agreement.

"Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

AFFIRMATION: By signing this form, the vendor's authorized signer affirms and acknowledges under penalty of law for false swearing (*W. Va. Code* §61-5-3) that: (1) for construction contracts, the vendor is not in default on any monetary obligation owed to the state or a political subdivision of the state, and (2) for all other contracts, that neither vendor nor any related party owe a debt as defined above and that neither vendor nor any related party are in employer default as defined above, unless the debt or employer default is permitted under the exception above.

# Vendor's Name: Cham-Tax Date: 2/27/23 Authorized Signature: State of \_ NOW Yark County of Kings, to-wit: Taken, subscribed, and sworn to before me this 27 day of Trubrows My Commission expires <u>January</u> SHMUEL DANZGER NOTARY PUBLIC, STATE OF NEW YORK Registration No. 01DA6370248 **AFFIX SEAL HERE NOTARY PUBLIC** Qualified in Kings County Commission Expires January 29, 2026 Purchasing Affidavit (Revised 03/09/2019) Shoul Sanger